10:10~10:30

4R Y4I1J2AAT=IPRR

11:30~11:50

13:15~13:35

18(A) 17 fB B

28(X) = IIYIDFRA &5 Uo< Y 1 KESRSR
38(K) =% ERDEDVHD &5 FaU—KRALHHR
48(K) (=5 KEDHER =% SDHE
58(%) &% JrM10NE =% BIRIVF—DRER
68(t) &% 295 FZEf =5 BBDAHULE
78(B) AEg) —a—MNIDFER g AUVADHER
88(A) 17 fB B

98(X) &% BISFENSR—=IV &% Jr10HR
108(K) & IPIST—DHER =% BIRIVF—DRER
118(K) &% Uo< Y 1 KESRER =% HAVUVFDER
128(2) =% Za—bM/DOER =) ERDBOVHD
138(t) &% 295 NZEf &5 KSEDHESK
148(B) AEg) IV DFA s NIVDFEEA
158(8) 17 e B

16B(X) & AIUVFDER =5 BISEDAR—=I
178(K) &% SDALE & IPST—DER
188(K) &= ERDEDVHD =% BIRIVF—DRE%R
198(%) &% Uo< Y 1 KESRER &= 25 B
208(+1) (&% Jvr10HNRE =5 BBDHLE
218(8) AER) FaU—KRAZHSHR AR KREDFESR
228(R) 17 fe B

238(X) =5 NIVDFA =% BIRIVF—DRE%R
248(K) &% Uo< Y 1 KESRER = Za— M JDOER
258(K) &% 25 P26 &5 FaU—KRACHHR
268(&) &% BBDHLE =B AREDHES
278(t) & BISFENSR=IV & IIYVIOFRRB
288(8) k&) PPOT—DHER k&) AIUVFDHER
298(R) =) FENDEDVHD (&% JvM0OHR
308(K) 17 fe B

14:35~14:55




